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ECONOMICS

vFkZ'kkL=kvFkZ'kkL=kvFkZ'kkL=kvFkZ'kkL=kvFkZ'kkL=k
Time allowed : 3 hours Maximum Marks: 100
fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 100

Note :
(i) All questions in both the sections are compulsory,

(ii) Marks for questions are indicated against each.

(iii)    Questions No. 1 and 13 are very short-answer questions carrying 1 mark for each
part. They are required to be answered in one sentence each.

(iv) Questions No. 2-5 and 14-17 are short-answer questions carrying 3 marks each.
Answers to them should normally not exceed 60 words each.

(v) Questions No. 6-9 and 18 -21 are also short-answer questions carrying 4 marks
each. Answers to them should normally not exceed 70 words each.

(vi) Questions No. 10-12 and 22-24 are long-answer questions carrying 6 marks each.
Answers to them should normally not exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limits should be adhered
to as far as possible.

(viii) All parts of a question should be answered at one place.

uksV %uksV %uksV %uksV %uksV %
(i) nksuksa [k.Mksa ds lHkh iz'u vfuok;Z gSaA

(ii) izR;sd iz'u ds fu/kkZfjr vad mlds lkeus fn, x, gSaA

(iii) iz'u la[;k 11111 rFkk 1313131313 vfr y?kwÙkjkRed iz'u gSa ftudk izR;sd Hkkx 11111 vad dk gSA budk mÙkj
dsoy ,d okD; esa gh fn;k tkuk gSA

(iv) iz'u la[;k 2&52&52&52&52&5 vkSj 14&1714&1714&1714&1714&17 y?kwÙkjkRed iz'u gSa ftuesa izR;sd ds 3 3 3 3 3 vad gSaA izR;sd dk mÙkj
lkekU;r% 6060606060 'kCnksa ls vf/kd ugha gksuk pkfg,A

Roll No.

Series SHC/2 Code  No. 58/2/1
� Please check that this question paper contains 7 printed pages.
� Code number given on the right hand side of the question paper should be written on the

title page of the answer-book by the condidate.
� Please check that this question paper contains 24 questions.

� Please write down the serial number of the question before attempting it.

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 gSaA

� iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA

� Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 24 iz'u gSaA

� Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-
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(v) iz'u la[;k 6&96&96&96&96&9 vkSj 18&2118&2118&2118&2118&21 Hkh y?kwÙkjkRed iz'u gSa ftuesa izR;sd ds 44444 vad gSaA izR;sd dk
mÙkj lkekU;r% 7070707070 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vi) iz'u la[;k 10&1210&1210&1210&1210&12 vkSj 22&2422&2422&2422&2422&24 O;k[;kRed mÙkj okys iz'u gSa ftuesa izR;sd ds 66666 vad gSaA
izR;sd dk mÙkj lkekU;r% 100100100100100 'kCnksa ls vf/kd ugha gksuk pkfg,A

(vii) mÙkj laf{kIr rFkk rF;kRed gksus pkfg, rFkk ;FkklaHko Åij nh xbZ lhek ds varxZr gh fn,
tk,¡A

(viii) izR;sd iz'u ds lHkh Hkkxksa dk mÙkj ,d gh LFkku ij fn;k tkuk pkfg,A

SECTION A

[k.M v[k.M v[k.M v[k.M v[k.M v

1. Answer the following questions : 1×4

(i) Define marginal opportunity cost.

(ii) Why is a production possibility curve concave ?

(iii) State two characteristics of resources which give rise to an economic problem.

(iv) Give two examples of microeconomic studies
fuEufyf[kr iz'uksa ds mÙkj nhft, %

(i) lhekar volj ykxr dh ifjHkk"kk nhft,A

(ii) mRiknu laHkkouk oØ vory D;ksa gksrk gS\

(iii) lalk/kuksa dh os nks fo'ks"krk,¡ crkb, tks vkfFkZd leL;k dks tUe nsrh gSaA

(iv) O;f"V&vkfFkZd v/;;u ds nks mnkgj.k nhft,A

2. Give meaning of (i) demand, (ii) normal good and (iii) inferior good. 3
(i) ek¡x] (ii)  lkekU; oLrq rFkk (iii)  ?kfV;k oLrq ds vFkZ crkb,A

3. Explain the effect of ‘input price changes’ on the supply of a good. 3
^vkxrksa dh dherksa esa ifjorZu* ds oLrq dh iwfrZ ij izHkko dh O;k[;k dhft,A

4. Explain the relation between marginal revenue and average revenue. 3

lhekar laizkfIr vkSj vkSlr laizkfIr ds chp lEcU/k le>kb,A

5. Draw Average Total Cost, Average Variable Cost and Marginal Cost curves in a single

diagram. 3
,d gh js[kkfp=k esa vkSlr dqy ykxr] vkSlr ifjorZuh; ykxr rFkk lhekar ykxr oØ [khafp,A

For Blind Candidates only in lieu of Q. No. 5
dsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 5 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 5 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 5 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 5 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 5 ds LFkku ij

When is supply of a commodity said to be (i) elastic, (ii) inelastic and (iii) perfectly
inelastic ?

oLrq dh iwfrZ dks (i) ykspnkj] (ii)  csykspnkj o (iii) iw.kZr;k csykspnkj dc dgk tkrk gS \
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6. Price of a good rises from Rs.  10 per unit to Rs.  11 per unit. As a result quantity

demanded of that good falls by 10 percent. Calculate its price elasticity of demand. 4

OR
A consumer buys 70 units of a good at a price of Rs. 7 per unit. When price falls to Rs. 6 per
unit, he buys 90 units. Use Total Expenditure Method to find whether the demand for the good
is elastic or inelastic.

,d oLrq dh dher 10 #- izfr bdkbZ ls c<+dj 11 #- izfr bdkbZ gks tkrh gSA ifj.kkeLo:i ml

oLrq dh ek¡x 10 izfr'kr fxj tkrh gSA ek¡x dh dher yksp dk ifjdyu dhft,A

vFkokvFkokvFkokvFkokvFkok

,d miHkksäk 7 #- izfr bdkbZ ij ,d oLrq dh 70 bdkb;k¡ [kjhnrk gSA tc mldh dher fxjdj

6 #- izfr bdkbZ gks tkrh gS] rks og 90 bdkb;k¡ [kjhnrk gSA ;g Kkr djus ds fy, fd oLrq dh
ek¡x ykspnkj gS ;k csykspnkj] dqy O;; fof/k viukb,A

7. Give meanings of (i) marginal physical product, (ii) fixed cost, (iii) variable cost, and

(iv)  total revenue. 4

(i) lhekar HkkSfrd mRikn] (ii) fLFkj ¼vpy½ ykxr] (iii)  ifjorZuh; ykxr] rFkk (iv) dqy laizkfIr ds

vFkZ crkb,A

8. Calculate Marginal Cost and Total Cost from the following Cost Schedule of a firm whose
Total Fixed Costs are Rs. 15 : 4

Output Total Variable Cost
(Unit) (Rs.)

1 10

2 19

3 29

4 40

,d QeZ dh dqy fLFkj ykxr 15 #- gS vkSj mldh ykxr vuqlwph uhps nh xbZ gSA lhekar ykxr

vkSj dqy ykxr Kkr dhft, %

mRiknu dqy ykxr

¼bdkb;k¡½ ¼#-½

1 10

2 19

3 29

4 40
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9. How is the equilibrium price of a good determined ? Explain with the help of diagram a
situation when both demand and supply curves shift to the right but equilibrium price
remains the same. 4

,d oLrq dh larqyu dher dk fu/kkZj.k dSls gksrk gS \ js[kkfp=k dh lgk;rk ls ,d ,slh
fLFkfr fn[kkb, ftlesa ek¡x vkSj iwfrZ nksuksa oØ nk;ha vksj f[kld tkrs gSa ysfdu larqyu dher
ogh jgrh gSA

For Blind Candidates only in lieu of Q. No. 9
dsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku ij

Explain with the help of a schedule how equilibrium price of a good is determined.

,d oLrq dh larqyu dher dk fu/kkZj.k dSls gksrk gS \ ,d vuqlwph dh lgk;rk ls le>kb,A

10. Explain the term ‘change in demand’ and represent the same graphically. Also state

three factors responsible for ‘change in demand’. 6

^ek¡x esa ifjorZu* in dk vFkZ le>kb, vkSj bldks js[kkfp=k ij fn[kkb,A ,sls rhu dkjd
Hkh crkb, tks ^ek¡x esa ifjorZu* ds fy, ftEesnkj ekus tkrs gSaA

For Blind Candidates only in lieu of Q. No. 10
dsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 10 ds LFkku ij

Explain the terms ‘change in demand’ and ‘change in quantity demanded’. Also state three
factors responsible for ‘change in demand’.

^ek¡x esa ifjorZu* vkSj ^ek¡x dh ek=kk esa ifjorZu* inksa ds chp varj le>kb,A ,sls rhu
dkjd Hkh crkb, tks ^ek¡x esa ifjorZu* ds fy, ftEesnkj ekus tkrs gSaA

11. Distinguish between ‘returns to a factor’ and ‘returns to scale’. Explain briefly returns to
scale by giving numerical examples 6

^,d lk/ku ds izfrQy* vkSj ^iSekus ds izfrQy* ds chp varj crkb,A la[;kRed mnkgj.k
nsrs gq, iSekus ds izfrQy dks la{ksi esa le>kb,A

12. Explain briefly three features of monopolistic competition. 6

                   OR

Explain the features of monopoly.

,dkf/kdkjkRed izfr;ksfxrk dh rhu fo'ks"krk,¡ la{ksi esa le>kb,A

          vFkok          vFkok          vFkok          vFkok          vFkok

,dkf/kdkj dh fo'ks"krk,¡ le>kb,A
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SECTION B

[k.M [k[k.M [k[k.M [k[k.M [k[k.M [k

13. Answer the following questions : 1×4

(i) What is macroeconomics ?

(ii) Give two examples of macroeconomic studies.

(iii) What is balance of trade ?

(iv) Give meaning of balance of payments.

fuEufyf[kr iz'uksa ds mÙkj nhft, %

(i) lef"V vFkZ'kkL=k fdls dgrs gSa \

(ii) lef"V&vkfFkZd v/;;uksa ds nks mnkgj.k nhft,A

(iii) O;kikj 'ks"k D;k gksrk gS \

(iv) Hkqxrku larqyu dk vFkZ crkb,A

14. Calculate Personal Disposable Income from the following data : 3

(Rs. crores)

(i) Personal taxes 60

(ii) Net national product at factor cost accruing to the private sector 600

(iii) Undistributed profits 10

(iv) National debt interest 50

(v) Corporation tax 100

(vi) Net current transfers from the rest of the world (—) 20

(vii) Current transfers from government 30

fuEufyf[kr vk¡dM+ksa ls oS;fäd iz;ksT; vk; dk ifjdyu dhft, %

¼djksM+ #-½

(i) oS;fäd dj 60

(ii) futh {ks=k dks gksus okyk dkjd ykxr ij fuoy jk"Vªh; mRikn 600

(iii) vforfjr ykHk 10

(iv) jk"Vªh; _.k ij C;kt  50

(v) fuxe dj 100

(vi) 'ks"k fo'o ls fuoy iw¡thrj gLrkarj.k  (—) 20

(vii) ljdkj ls iw¡thrj gLrkarj.k 30
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15. In an economy, marginal propensity to save is 0.2. Investment increases by Rs. 100 crores.
Calculate total increase in national income. 3
,d vFkZO;oLFkk esa lhekar cpr izo`fÙk 0-2 gS vkSj fuos'k esa o`f) 100 djksM+ #- gksrh gSA
jk"Vªh; vk; esa gksus okyh dqy o`f) ifjdfyr dhft,A

16. Give meanings of (i) cash reserve ratio, (ii) bank rate and (iii) open market operations. 3
(i) udn fjtZo vuqikr] (ii) cSad nj rFkk (iii)  [kqys cktkj dh izfØ;kvksa ds vFkZ crkb,A

17. Distinguish between ‘visible trade’ and ‘invisible trade’ in balance of payments. Give one
example of each. 3
Hkqxrku larqyu esa ^n`'; O;kikj* vkSj ^vn`'; O;kikj* ds chp varj crkb,A izR;sd dk ,d&,d
mnkgj.k nhft,A

18. What is barter ? Explain the ‘unit of value’ function of money. 4

                   OR

What is money ? Explain the ‘store of value’ function of money.

oLrq&fofue; ls D;k vfHkizk; gS\ eqnzk dk ^ewY; dh bdkbZ* dk;Z le>kb,A

          vFkok          vFkok          vFkok          vFkok          vFkok

eqnzk ls D;k vfHkizk; gS\ eqnzk dk ^ewY; dk lap;* dk;Z le>kb,A

19. Explain the ‘banker’s bank and supervisor’ function of the central bank. 4

dsUnzh; cSad dk ^cSadjksa dk cSad vkSj fujh{kd* dk;Z le>kb,A

20. Distinguish between direct tax and indirect tax. Give two examples of each. 4
izR;{k dj vkSj vizR;{k dj ds chp varj crkb,A izR;sd ds nks&nks mnkgj.k nhft,A

21. Distinguish between (i) tax and non-tax revenues and (ii) developmental and
non-developmental expenditures. 4

(i) dj vkSj xSj&dj jktLoksa ds chp rFkk (ii) fodklkRed vkSj xSj&fodklkRed O;;ksa ds chp varj
crkb,A

22. Calculate ‘national income’ and ‘net national disposable income’ from the following data :

4, 2

(Rs. crores)

(i) Current transfers from government 35

(ii) Private final consumption expenditure 500

(iii) Net current transfers from the rest of the world (—) 10

(iv) Government final consumption expenditure 150

(v) Net factor income from abroad (—) 20

(vi) Net domestic capital formation 100

(vii) Net indirect tax 120

(viii) Net exports 50
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fuEufyf[kr vk¡dM+ksa ls ^jk"Vªh; vk;* rFkk ^fuoy jk"Vªh; iz;ksT; vk;* dk ifjdyu dhft,%

¼djksM+ #-½

(i) ljdkj ls iw¡thrj gLrkarj.k 35

(ii) futh vafre miHkksx O;; 500

(iii) 'ks"k fo'o ls fuoy iw¡thrj gLrkarj.k (—) 10

(iv) ljdkjh vafre miHkksx O;; 150

(v) fons'kksa ls fuoy dkjd vk; (—) 20

(vi) fuoy ns'kh; iw¡th fuekZ.k 100

(vii) fuoy vizR;{k dj 120

(viii) fuoy fu;kZr 50

23. Explain the income method of estimating national income. 6

                                    OR

Explain the distinction between ‘domestic product’ and ‘national product’ on the basis of
concepts of resident and domestic territory.

jk"Vªh; vk; ekius dh vk; fof/k le>kb,A

             vFkok             vFkok             vFkok             vFkok             vFkok

fuoklh vkSj ns'kh; {ks=k dh vo/kkj.kkvksa ds vk/kkj ij ^ns'kh; mRikn* vkSj jk"Vªh; mRikn*
ds chp varj le>kb,A

24. Explain determination of equilibrium level of income through the Savings - Investment
approach. Use diagram. What changes will take place when the economy is not
in equilibrium ? Explain. 6

cpr&fuos'k n`f"Vdks.k }kjk vk; ds lrqfyr Lrj dk fu/kkZj.k le>kb,A js[kkfp=k dk iz;ksx dhft,A
;fn vFkZO;oLFkk larqyu esa u gks rks D;k ifjorzu vkrs gSa \ le>kb,A

For Blind Candidates only in lieu of Q. No. 24
dsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ds LFkku ijdsoy n`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ds LFkku ij

Explain determination of equilibrium level of income by the (i) Savings - Investment approach
and (ii) Aggregate demand - Aggregate supply approach. What changes will take place
when the economy is not in equilibrium ?

(i) cpr&fuos'k n`f"Vdks.k rFkk (ii) lexz ek¡x & lexz vkiwfrZ n`f"Vdks.k }kjk vk; ds larqfyr
Lrj dk fu/kkZj.k le>kb,A ;fn vFkZO;oLFkk larqyu esa u gks rks D;k ifjorZu vkrs gSa \


